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(English Version)

Note: (1) Yoy L |
| MUSst writg (he subject code/paper code 08/C in the box provided on the
Utle page of Your answer book. "

(i) Mak -
C sure that answer book contains 24 pages (including title page) and arc
Properly scrialled as soon as YOUu receive jt.

(1) Question/s attempted afler leaving blank page/s in the answer book would
not be evaluated.

(iv) No extra sheet will be given. Write suitable answer and do not strike the

writlen answer.

(v)  Answer should be brief and to the point. Draw labelled diagram where

required.
PART - A %
One Mark Questions :
Multiple Choice Questions :
1.  Attempt the following multiple choice questions : 25x1=25 !
(1) What do doctor's use for plastering fractured bones ¥ 1 E
(a) Calcium Carbonate (b) Gypsum |
(¢) Plaster of Paris (d) Calcium Oxide
.
(i) Which antacid is used for treatment of acidity ? 1 |
(a) Magnesium Hydroxide (b) Sodium Hydroxide
(¢) Potassium Hydroxide (d)  Ammonium Hydroxide
=%
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CHI Which is least teactive metal in reactivity series
() Zuw (b) Gold
(W) Calcium (d) Polassium

(V) When three resistors R.. R,. Ry are connected i series, the current passing

through them are |
(a)  Same current lows in all three

(b)  Current flows only in R,

(¢)  Current flows only in R,

(d)  Current Nows only in R,

(V) Voa @ law is given by : !

o

(a) Faraday (b) Wat

(¢) Ohm (d) Coulomb

(vi) Which micro-organisms decomposes the dead remains of plants and animals ? 1

(a) Bactena and fungi (b) Frog
(¢)  Fox (d) Insects
(vi1) UNLP stands for: 1

(a) United Nation Environment Programme
(b) United Nation Energy Programme

(¢) United Nation Emergency Programme
(d) United Nation English Programme

08/C-X I8
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(vir) What will be the size of an image formed by a concave mirror 1l object is

infinity ?

'
(a) Highly I-nlarged (b) Samc sizc
(¢) Highly diminished (d) Enlarged
(1x) What is S. 1. unit of power of a lens ? !
(a) Metre (b) Centimetre
(c) Dioptre (d) Watl
(X)  2FeSO,(5)—1 4 Fey0;(5)+ SO»(g) + SO3(g)
What type of chemical reaction is shown in the above equation e 1
(a) Combination reaction (b) Decomposition reaction
(c) Displacement reaction (d) Double displacement reaction
(xi) Which process in our body is exothermic in naturc ? " 1
(a) Lxcretion (b) Respiration %
(¢c) Digestion (d) Heart Beat
(xii) Who is responsible for the change in focal length of an cyc lens ? 1
(a) Pupil (b) Ins
(¢) Ciliary muscles (d) Relina
(xiii) Myopic eye can be corrected by 1
(a) Convex lens (b) Cylindrical lens
(¢) Concave lens (d) Bi-focal lens
)
08/C-X P 19 | Turn over
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(X1v) What is filtration unit of kidneys 1
(@)  Nephron (h) Bowman's Capsule
(¢) Aona (d) Vena Cava
(xv) Where do exchange of gases takes place in lungs ? 1
(a) In guard cells (b) Stomata
(€) Stroma (d) Alveoli
(xvi) Salivary glands contain which type of enzyme ? '
(a) Insulin (b)  Amylase
(¢) Pepsin (d) Hydrochloric acid
(xv1i) Saturated hydrocarbons are called : 5 1
(a) Alkane (b) Alkene m
(¢) Alkyne (d) Alcohol
(xviii) Which of the following organism reproduces by regeneration ? 1
(a) Amocba (b) Paramecium
(¢c) Planaria (d) Spirogyra
(xix) Among the following which are the sexually transmitted diseasces ? 1
(a) HIV-AIDS (b) Gonorrhoca
(c) Syphilis (d) All
0S/C-X 20
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(XX) What will be | Progeny if a plant having

Iwo short genes (1t) crosses with
another plany hg, Ing two tall genes (1°1) ?

1
(@) Al plants are short
(b) Al plants are tall
(€)  Short plants and 1all plants in the ratio of 3 : |
(d) Tall plants and short plants in the ratio of 3 : |
Match the following :
Column (A) Column (B)
(Xxi) &  Insulin e Magnetic line of forces 1
(xxi1) @ Reflex Are e  Deposition of Zinc 1
(Xxiil)e  Magnet e  Maxwell Cork Screw Rule 1
(xxiv)e  Galvanisation e  Spinal Cord % 1
(xxv) @  Right Hand Thumb Rule e  Pancreas 1
PART - B
Two Marks Questions (Attempt any 11) : 1M1 x2=22
2. Write any two characteristics of magnetic field lines. 2
3. Write two problems caused by non-biodegradable wastes that we generate. 2 |
4. Why damage to the Ozone layer is a cause of concemn ? 2

5. What two precautions should be taken to avoid the overloading of domestic clectric

circuits ? A0 d 2

M O
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Lize the area for exchange o

& How arce lungs designed in human beings 10 TR .

Rgases
. hicaching powder
_ i I’ndllu hILHL
7. Name the substance which reacts with chlorine K P
1+172
Mention one use of bleaching powder.

the light ray bend
1412

8. Aray of light travelling in air enters obliguely into walet Does

L] ¥ -}
towards the normal or away from the normal 7 Why *

! : | ipped 10
9. Why does colour of copper sulphate solution change. when an ron nail 1s dipped |

il 1-'] 2

10.  Why does sky appears dark instead of blue 1o an astronaut <

11.  Write two consequences of a deficiency ol hacmoglobin in our body ? 2
; & o W "

12.  Write any two role of acids in our stomach. m e

13.  What is homologous series ? Give an example. 1+1=2

14. How do Mendel's experiments show that gene may be dominant or recessive 2

15. Which gas is usually liberated when an acid reacts with a metal ? Hlustrate with an

example. - 1+1=22
16. Why is the use of iodised salt advisable ? 2
PART ~-C
Three Marks Questions (Attempt any 6) : 6x3-18
17. Draw a labelled diagram of neuron, 3
08/C-X | 22
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B Tood materinls are kept fiw o hng time *
Which gas is lled in bags of Chipy and why EFEEE RS
19. What is h!"'"""“‘*""“l‘ll T CHve any two reasons I v2+5

20. An object iy Paced al o distance of 10 om

lrom a convex mirror of tocal length
13 em Find the POsItion und nature of linage 4113
21.  With the help of balance

d chemical equition define decomposition renction ?

1v2+19
22. llow do rainbow in the sky appeur J
.y
23. Draw structyral Isomers of Pentanc, m J
24. Define Trophic Level. What will happen if we kill all the organism in one trophie
level ? 1+2«3
23. Define plant harmone Mention the name of one growth harmone and name ol
growth inhibitor, https://www.punjabboardonline.com T+414+13
PART -D
Five Marks Questions - 53«15
26. Writc three mcthods of contraception. Mention two reasons  for adopling
contraceptive methods. Od J+2=5
P vy
OR
Write five changes seen in girls at the time of puberty, 8

27.  Differentiate between metals and non-metals on the basis of three physical and fwo
chemical propertics.

J+2x5
8/C.X
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OR

(a)  Write chemical equations for the reaction 9
(1)  Potassium with waler
(11) Tron with steam
(1) Calcium with water
(b) Write clectron dot structure of oxygen. ‘
28. (a) Writc unit of electric power. 1

(b) Will current flow more easily through a thick wire or a thin wirc of same¢

matcrial. when connected to same source and why ? 3

(c) How is voltmeter connected to the circuit to measure the potential difference

between two points ? 1

- i

(a) On what factors does the resistance of a conductor depend ? 3

(b) Why are Copper and Aluminium wires usually employed for electricity
transmission ? 2
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